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Hs — 2272(m) BE BEFE(m) I:;u;?;) | -
Al 376.26 - - - 325
L8017—-1 35.57 0.3 " 0.8 31
L8017-2 39.25 0.3 ” 0.8 34
L8022 107.89 0.3 ” 0.8 66
L6047 63.33 0.6 ” 0.8 55
L6046—3 55.92 0.6 ” 0.8 48
L6046—1 74.3 0.6 ” 0.8 64
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<H HZ> MYP2X7 EFLE Of+LAE HA X HEHE

sxjos e 23] oapz A
= &HEH(m) THEE=A|
s BEdEm | & EEREm) S0
Al 1,180.46 - - - 869

L6012-2 32.35 0.5 Fa b 0.6 22

L6012—-3 32.48 0.5 ” 0.6 22
L8069 16.4 0.6 ” 0.8 14

L8069—1 11.61 0.5 ” 0.8 10
L8068 35.14 0.5 ” 0.8 30
L8073 5.1 0.3 ” 0.5 3
L8072 15.15 0.3 ” 0.5 9
L8071 20.65 0.3 i k=) 0.5 13
L8067 38.32 0.6 ” 0.8 33
L8064 6.17 0.6 ” 0.8 5
L8066 1717 0.4 ” 0.6 12
L8065 28.97 0.4 n 0.6 20

L6043—1 62.17 0.5 ” 0.6 43
L9001 29.56 0.5 ” 0.6 20
L9002 45,55 0.5 ” 0.6 31
L9003 43.05 0.5 ” 0.6 30
L9004 66.91 0.5 ” 0.6 46

L6066—1 44.88 0.3 " 0.5 27

L6066—2 34.04 0.3 " 0.5 21
L6056 61.83 0.6 ” 08 53

L6055—1 412 0.6 ” 0.8 4
L6055 50.21 0.6 ” 0.8 43
L6054 51.63 0.6 ” 0.8 45

L6060—3 22.73 0.5 ” 0.8 20

L6060—2 74.25 0.5 ” 0.8 64

L6060—1 31.41 04 ” 0.8 27

L6061—3 3.61 04 ” 0.6 2

L6061—2 28.69 04 ” 0.6 17
L6027 74.07 0.3 ” 05 45
L6020 61.14 0.5 ” 0.6 42
L6021 30.87 0.5 ” 0.6 21

L6021—1 100.23 0.5 ” 0.6 69

S

alo

4302 ) i



| 53 Hae
0.3.1 Al

e

7t. SSSrAE|AE AxleiE

o 7|EAEZ2 2006 11E AL

° ZB0IE SRR ALISY 4501/ 2BE

450t/ H22Z KIDEA BHE XE51¢ 715
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2|7 HE(m) 0.56kit
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72 = AL
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EIARI A
4 AF2EIZA 300mm EFEHZ @3mm
4 Al
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- 4 Pl
—Oo—1-
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A PRl
b EIEES
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=S SAM MQAL OIMIHZE7 |(3FM) EiA]
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4 12mm/min
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T+ E INFST 7|2t L2A| HEA| Z|cH Z|A
e 375.5 388.3 370.1 570.0 31.0

20124 450
HlE 83.4% 86.3% 82.3% 126.7% 6.9%
e 4182 4372 412.6 643.0 159.0

20134 450
HlE 92.9% 97.1% 91.7% 142.9% 35.3%
e 427.4 457.0 4195 610.0 258.0

20144 450
H|IE 95.0% 101.6% 93.2% 135.6% 57.3%
S 419.9 4402 407.0 597.0 2210

20154 450
HlZ 93.3% 97.8% 90.4% 132.7% 49.1%
e 4723 5255 457.3 1,408.0 292.0
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600
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T2 BOD COoD SS T-N T-P =

A2lqs2 179.3 165.7 2185 36 6.2 300,000
N (STJES 198.2 115.1 179.6 35.955 3.770 45,492
HIZ 110.5% 69.5% 82.2% 99.9% 60.8% 15.2%

- oz 171.0 113.8 1751 38.041 3.903 41,213
HIE 95.4% 68.7% 80.1% 105.7% 62.9% 13.7%

o Faz 192.6 119.1 190.3 38570 3.990 39,250
HIS 107.4% 71.9% 87.1% 107.1% 64.4% 13.1%

oI eeE 184.2 124.8 180.4 35.9 37 38,179.2
H|E 102.7% 75.3% 82.6% 99.6% 60.0% 12.7%

- Farz 1795 136.5 180.2 33.645 3.79 49,792
HIE 100.1% 82.4% 82.5% 93.5% 61.2% 16.6%

s e 176.1 189.4 1996 34.315 3.739 167,239
HIZ 98.2% 114.3% 91.3% 95.3% 60.3% 55.7%
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<H 4.5-26> £ 5H2H2012.12~1217.09) BF+& (Ere] = mg/L. 7H/mL)

T2 BOD CoD SS T-N T-P a2

HEY2 10.00(3} 40.00(3} 10.00(3} 20.00[5t 2.00(3} 3,0000]5t
G 3.3 7.6 1.5 9.339 0.521 81
20124 HIZ 33% 19% 15% 47% 26% 3%
HExaAUS - - - - - -
gez 2.7 7.0 1.5 8.554 0.212 74
20134 HIg 27% 17% 15% 43% 1% 2%
HEz U - - - - - -
| 2.4 6.8 1.3 7.351 0.165 83
20144 HIS 24% 17% 13% 37% 8% 3%
HEZ U - - - - - -
| 17 7.1 1.1 7.352 0.148 87
20154 HIg 17% 18% 1% 37% 7% 3%
HEZ U - - - - - -
oS 1.7 7.1 1.1 7.352 0.148 87
2016\ HI2 17% 18% 1% 37% 7% 3%
HExatAUS - - - - - -
gez 2.3 7.4 1.4 8.153 0.151 77
20174 HI2 23% 18% 14% 41% 8% 3%
HEZAUS - - - - - -
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(2] m’/, mg/L, 7H/mL)
e Sedskegk BOD CcoD SS T-N T-P | CHEFEZES
AdEZ/AElqedsE 450 179.3 165.7 2185 36.000 6.200 300,000
2515t 406 161.8 908 1446 36.567 3.640 37,100
20124
HlE 90.3% 90.2% 60.3% 66.2% 101.6% 58.7% 12.4%
255t 381 168.5 1249 184.6 42.924 4171 40,315
20134
HlE 84.6% 94.0% 75.4% 84.5% 119.2% 67.3% 13.4%
2515t 404 186.0 115.4 186.4 36.895 3.727 37,308
20144
HlE 89.8% 103.7% 69.6% 85.3% 102.5% 60.1% 12.4%
2954t 422 186.0 144.0 183.1 32.737 3.705 38,846
20154
HlE 93.8% 103.7% 86.9% 83.8% 90.9% 59.8% 12.9%
2Y5ist 435 175.8 159.4 197.4 32.322 3.666 75,308
20164
Hl& 96.7% 98.1% 96.2% 90.4% 89.8% 59.1% 25.1%
Lp) gtge T-NeZE
<H 4.5-28> FZI| ¥=+ [-N+~Z P9%/(2012,10~2017.09) (  mo/L)
= = . T-Ne 2! YA
128 18 2d o CHH|
20124 5.499 5.507 11.526 7.511 37.6%
20134 5.395 5.395 16.483 9.091 45.5%
20144 20.0 12.634 15.785 7.001 11.807 59.0%
20154 5.879 5.480 7.001 6.120 30.6%
20164 4534 5.480 6.869 5.628 28.1%




2) st7| 2EeE(7E~9g)

o 5IM7| QUSSR 2017 7|FE AN CHH| 97.9% 2 SE7|t 2 X017t S HRA|
=y 0| M2 o2 BEMEH M2|RE7t0 ME FUsHeE0| niotet Aoz mtE
o MI X2 &M E2A X|90|m 22 BMATI 1090| ZoSHK| o 284 gkl M2
NOZ THHE|L}, StpiMEfo| BIIZ QIsh X2 S40| ZRsh Aakel
—_ O, oq ~
<H 4.5-29> OIFI| 2FL1g(2012.10~2017.09) (B2l © m/2 ma/L. FH/mL)
T E felskgk  BOD CoD SS T-N T-P |CHEFEFES
A/ AEqdsE 450 179.3 165.7 2185 36.000 6.200 300,000
29545t 428 167.1 104.7 207.3 31.628 3.666 42 917
20134
HlE 95.0% 93.2% 63.2% 94.9% 87.9% 59.1% 14.3%
2515t 476 176.8 109.7 178.9 36.442 3.802 34,400
20144
HlE 105.9% 98.6% 66.2% 81.9% 101.2% 61.3% 11.5%
2954st 447 1747 1175 170.9 36.158 3.724 34,350
20154
HIE 99.3% 97.4% 70.9% 78.2% 100.4% 60.1% 11.5%
2515t 561 182.4 129.9 179.5 33.227 3.780 45,350
20164
HIE 1247% | 101.7% 78.4% 82.1% 92.3% 61.0% 15.1%
2515t 440 160.5 172.2 159.7 33.293 3.406 288,583
20174
HlE 97.9% 89.5% 103.9% 73.1% 92.5% 54.9% 96.2%
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<H 4.5-32> SPHFEE JI£XE Z
TE FU(mg/L) E| B4 F4(mg/L)
BOD 1725 8.1
COD 156.7 18.0
AA7IE SS 198.3 3.0
T—-N 35.400 15.000
T-P 5.800 2.000
BOD 135.9 4.7
COD 83.2 8.0
7|EZIE
X2 SS 129.9 5.5
T-N 31.683 6.925
T-P 3.602 0.524
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mstaize S w=s
<HF 4.5-34> HHE MA(TFE) A
T B 20204 202544 2030 203544 H &
H2|217(2l) 2,173 2.233 - -
3 UL 348 357 - -
A&l
= UE[CH 435 447 - -
= | (m/Y)
CES = AlZHE|cH 652 670 - -
AEE2K( /) 450 450 - -
SH(m/Y) - - - -
Z1471ZK'H) - - - -
x{alelg(el) 2,631 2,688 2,931 5,053
UL 740 753 809 1,296
7|El
ShEE IS 904 920 988 1,584
= | (m*/%) 1E4A:550m° /Y
=2 = Nz 1317 1,341 1,440 2306 | 4cir-600m /2
Aldea(m/Y) 1,000 1,000 1,000 1,600
M2’ /Y) 550 - - 600
Z14471ZKH) - - - -
2,500
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Eil. T P T A= Lel
# 1,500 r T8 “qao% Lﬁml‘ll’fa
g 1
w 1
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<H 4.6-1> ZFXE7Y HZIF L
T B2 20164 20204 202514 20304 20354
f,_ﬁﬁ,j' 2|7y ol 7.319 7.950 9,090 9,042 11,526
oo 254 254 254 254 254
) 3 MESIA o F| of 317 317 317 317 317
sis | 2 AlZHE]CH 476 476 476 476 476
(L?aj.'é) T dmyE | 32 32 32 32
BREEPN [ S =T 32 32 32 32 32
AlZE=|ch 32 32 32 32 32
NES MEto A 1,859 2,019 2,309 2,297 2,928
s | A 1,859 2,019 2,309 2,297 2,928
ol PN V=L 121 121 121 121 121
o S=rystm - - - 116 116
i Z=rystm - - - 48 48
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A 2,227 2,407 2,733 2,904 3614
NES MEtO A 2,320 2,520 2,882 2,866 3,654
Skt A A 2,320 2,520 2,882 2,866 3,654
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r e ! - - - % 90
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HIE 91.0% | 77.5% | 47.9% | 60.1% | 89.7% | 75.2% | 32.9% 16.8%  36.9% | 59.0% | 43.7%
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Aldgat 50 | 1600|1300 1800 | 400 | 65 | 10 | 40 | 10 | 20 2
—— 2%HE | 377 | 1528 | 887 | 1413 (35886 5639 | 33 | 67 | 37 |11.803| 0.873
HIE 75.4% | 955% | 68.2% | 78.5% | 89.7%  86.8% 32.9% | 16.8% | 36.9% | 59.0% | 43.7%

— 2g§s | 288 | 1704 | 107.2 | 1582 |35800 4005 44 & 69 | 04 [16.704| 1.551
HIZ 57.7% |106.5% 82.5% | 87.9% | 89.5% | 61.6%  436% 17.1% 36% | 835% | 77.6%
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S—" S | 204 | 1739 1635 | 1739 |37.025/ 4965 | 30 | 64 | 07 13907 0819
HIg 58.9% |108.7%1258% 96.6% | 92.6% | 76.4% 30.1% | 15.9% | 7.1% | 69.5% | 41.0%
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